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Divisibilité dans � 
����������11    

   �������� ����	 ��	 a 
  b       ���
	
��� �� ����	 ���
 �
����99 
����� ������� ��
�����
���  11. 

)11،88( )22،77 ( )44،55( )88،11( )77،22( )55،44( 
        

����������22    
 ������� ����	 ��	a 
 b ��� �
��� �� !��� �� ���	 

2700����� ������� ��
����
 �
���  6.  

)6،450( )18،150( )450،6( )150،18( 
        

����������33    
1�  "������ ����� #�$975%��
� #��
	 !��� &��  . 
2�  ������� ����	 ��	a 
 b '�$ ��
(�� ���) ����
�:  

ba > 
  975=×ba 

 )25،39(؛)13،75(؛) 3،325(؛)1،975( 13 × 5 × 5 × 3
        

����������44    
������� ����	 ��	 a 
 b �� ���	 ��� ������� ��
���� 

������
���  13 ������� ���  ����
 ���
� 117. 

)13،117( )26،117( )52،117( )65،117( )91،117( )104،117( 
)117،13( )117،26( )117،52( )117،65( )117،91( )117،104( 
        

����������55    
1� "������ ����� #�$ 1432%��
� #��
	 !��� &��  . 
2� ��	%������� +�
,�� %	
���  )  ( x , y'�$�  : 





=
=−

2),(
572822

yxPGCD

yx 

 )354،362(؛ ) 714،718( 179 × 2 × 2 × 2
  

����������66    
α
  β������� ����	 . 
1� +�
,�� %	
��� ��	 )  (α , β'�$�= 51  β × α. 
2�� %	
��� -�(��� %������� +�
,� )  ( x , y'�$� : 
 � (5122 =− yx 
�( 0512. =−+ xyx 
�( 6033. =+− yxyx 

 )25،26(؛ ) 7،10( )17،3(؛ ) 3،17(؛ ) 51،1(؛ ) 1،51(
 )14،6(؛ ) 0،20(؛ ) 48،4( )17،1(؛ ) 3،15(؛ ) 1،49(

����������77   
��	 ���.�(/�� #� )  ( x , y �� %$�$0�� ���	��12$� "���: 

1 (11)32)(1( =−− yx  

2( 364 22 =− yx 

3( 0222 =++ xyyx 

4( 455 22 =+ yx 

 )-8،5(؛ ) -5،-8(؛ ) 5،-8(؛ ) 8،5(  ؛)-0،3(؛ ) 0،3( )-1،10(؛ ) 0،-4(؛ ) 2،12(؛ ) 7،2(
 )0،-3(؛  )-5،-2(؛ ) -2،5(؛  )5،-2(؛ ) 2،5(؛ ) 3،0( )2،-1(؛ ) -2،1(؛ ) -1،-1(

  
����������88   

1�#�$ �����  608%��
� #��
	 !��� &�� . 
2� α 
  β������� ����	 . 

34( :βαa 2+= 
  βαb 32 +=  

�� ��� = PGCD ( α , β )  PGCD ( a , b ) 

3� ��	%������� +�
,�� %	
���  )  ( x , y$�'�  : 





=
=++

4),(
9728)32)(2(

yxPGCD

yxyx
 

2× 2 × 2 × 2 × 2 × 19 )24،28( 
  

����������99   
n 5  a 
  b � ��	� %����� .  ��	6��   ����� n   '�$� a   6�2�b 

%������ �7�$�� �� %��$ #� "): 

((((1 1+= na 
 5+= nb '�$  n ≥ 0. 

((((2 1−= na 
 32 += nb '�$  n > 1. 

((((3 2−= na 
 432 ++= nnb '�$  n > 2. 

0 ، 1 ، 3  2 ، 6  3 ، 4 ، 9 ، 16 
  

����������1010   
n"���� ��	 6
��� ��8  .����:23 −= na
 5+= nb 

1����� ������� 6��2�� %(����� 6�2�� ��	 �  �������a
  b. 

2� "������ ������ 6��� ��	 n������ �
��� &�$ 
b

a  

 #�,�9:� :����)  �������a
  b ��
(�� ���) ����
� ��8 (. 

3� 6�� ��	 n ����� �
�� &�$ 
b

a ������ ���	. 

4�������� �� ��/� : a + 6
   2b − 7��) ����
� ��
(�� �. 

1 ، 17  17k+12 12 
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����������1111   
������� ����(:13 −= na
 45 −= nb '�$ 5*n ∈ �. 

1�  ����d ������ ������� 6��2� �� a
  b. 6�� ��	 d. 
2�  ��� ��� <(� ���d = 7 ����� �=) 57����� 6�2� 2+n. 
3� ��	 ��� "�a
  b �
�� &�$ d = 7. 

1 ، 7  b=35k-14  ; a=21k-7 
 

����������1212   
n ��	 >�$0 .34(:2−= na
 1772 2 +−= nnb. 
1� ��	 6�� ����� n '�$� b  &�	 %��2�� #�2�a. 
2� ����) (�� "($(�  %����f ��%)��� &�	 ����-{2} ��: 

2

1772
)(

2

−

+−
=

x

xx
xf 

 ��	"($(��� �2( ) (�%$�$0 ����	� � ��/��$� "��� . 

 )14،3(؛ ) 24،13(؛ ) 1،-12(؛ ) -9،-22(
 

����������1313   
n ��	 "���� .34(:3+= na
 472 2 ++= nnb. 
1� ����� �� ��� a ����� 6�2�372 2 ++ nn. 
2�  ������� �� -�(���a
  b��
(�� ���) ����
� . 
3��	  �6�� ����� n '�$� a ����� 6�2�  b + 7. 

1 ، 5  
 

����������1414   
n"���� ��	 . 
1� ������� �� ���:652 ++= nna
 862 ++= nnb 

 &�	 %��2�� �:�2�2+n. 
2�  �� ���2+n
   ������ ������� 6��2� �� a
  b. 
3� ��	  6��   ����� n    ����� '�$� 1152 2 ++= nnc  #�2�

 &�	 %��2��2+n . 
4� ����� �� -�(��� c &�	 %��2�� #��� ��8 a
  b. 

1 ، 7  
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n ��	 �� ���� "����5 . 
1� a
  b'�$ ������� ����	 2−= na
 32 += nb. 

� (�� "  ����� ������� 6��2�� %(����� 6�2��  �������a
  b? 
�(     ������� �� ���a 
  b     ��@	��4� �� 7     ��� ��2)
 ��� 

 ���5+n ����� �@	�4� 7. 
�(  ��	6�� n �
��� �� �
�� "��� 7 = PGCD ( a ; b ). 
2� ��������� ������� ����(p    
q'�$ : 

1572 2 −−= nnp  
 1072 +−= nnq 

 � (������� �� #� �� ��� p  
 q &�	 %��2�� #�2� 5−n. 
�( � ���� �A�	6�2 n %�7��
 n 5 PGCD ( p ; q ). 

1 ، 7 7k-5  d=7(n-5)  أو d=n-5 
  

����������1616   
1� ����� ������� 6��2�� ��	  �������8044 
 4022. 
2�  "���� ��	 �B0� ��	x 6���� %���� �� �
��� 5 

'�$�:  ����� %��� "���4024 &�	 x 
  2 %��� "��� 
 5 
 �����8048 &�	 x 
  4. 

2011 

  

����������7711   
1� ��
(�� ���) ����
� �������� ������� ����	 �� ��/�. 
2�      ��� ��� <(� ���a 
  b     ���) ����
� ����	    �=�) 5��
(��
ba + 
 ba×���� ��
(�� ���) ����
� . 

3�  �� -�(��������
nn

n

+

+
2

12
 ��8#��� #�,�9:� .n ∈ �) ( 

4���� ��	 %�����  n �
�� &�$ 
56

1512
2

=
+

+

nn

n
. 

7 
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n  "���� ��	    ( 56
��� ��8     �������� ����19N += n  
 
19M −= n. 
1�    �� C�@(n "�
,  .  34(pn 2=    '��$ 5p   ���	 

6
��� ��8 "����. 
 � (�����  M  
N �����) ����	. 
�(  �� %D$:��2MN +=��	 5 PGCD ( M ; N ).    
2�    �� C�@(n ���)  . 34(12 += pn '�$ 5p  ���	 

"����. 
 � (�����  M 
 N �
, ����	���. 
�(  �� %D$:��2MN +=��	 5 PGCD ( M ; N ).    
3� n"���� ��	 ����� ����( 56
��� ��8 181 2 −n. 
 � ( �	 ��	181 2 −n %�7�� M 
 N. 
�(  <(� ��� ��� ���n �=) "�
, 181 2 −n ���). 
�( ���181 2 −n �� E	�4� 4 ��� �2)
 ��� n ���). 
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Congruence 

����������11    

1� ��������	
 ���	
 ��
 ���  n� ����
 �

 n3���  5 . 

2����	
 ���
 �
�� �� ��  123456 ��� 5� 

3�  ����� ��� �� ��� �� ��� �� �n���� ���	
 : 

   19248 1234 +×− ++ nn "��#�� ����	 5. 

4�
��$
 ���  ������	
 �n���	
 ���� %��� : 

   4334 −+ nn  &��
	 ��� ���'�5. 

1 4k+1 
  

����������22     BÕiÃªB∏I2010œyBÕi �¥M   

1� ���    �����	
 ���	
 ��
 ���  n � �  �

	
���'   �(����
)
 

����	 n10���  13 . 

2� �� *'�+: [ ]130110)10( 200822008 ≡++. 

3����  ��
 n %��� ����: [ ]130110102 ≡++ nn. 

6k+4 ; 6k+2  
 

����������33    

1� ��������	
 ���	
 ��
 ���  n� ����
 �

 n7���  9 . 

2����	   :
34925=a    � 

2388 += n
b 

 �( ������	
 ���
 �
�� :3932 −− ba  ���9. 

�( ������	
 �
��$
 ��� n%���  :[ ]903 ≡+− nba  . 

3� ������ �� ��� ��   n ∈ � :[ ]907772 ≡++ nn. 

8 3k+2 
  

����������44    

1� ��� ���+ 	�����	
 ���	
 ��' n� ����
 �

 n9���  11 . 

2���� ��
  ������	
 �
��$
 n���� %��� : 

 �( 597100 1 ++ +nn ����	 �"��#� 11. 

�( 169 225 −++
n

n ����	 �"��#� 11. 

3�  �����	
 ���	
 ��'	 ���+ ���n���	
 ���
 �
�� : 

    102012102 1433 −+×=α n  ���11. 

5k+3 11k+10 ; 11k+1 9   أو   2 

����������55  

1� ���    �����	
 ���	
 ��
 ���  n � �  �

	
���' ��
)
   �(��

����	�� n4 � n5���  7 . 

2� ��� ��� ∀ n ∈ �*�,-  :[ ]704039 5623 ≡+ −+ nn. 

3�       �����	
 ���	
  ��
 ��� n       �(� ���
 �
�� ���� %��� 

�������	
 n4� n5 ��� 7 �� 1 . 

4� �- �� � :[ ]70143414331432 ≡++ xxx. 

6k 6k+4 ; 6k+2 
 

����������66    

1� ��������	
 ���	
 ��
 ���  n� ����
 �

 n5���  9 . 

2� ������   : ∀ n ∈ �*[ ]90262524 9998 ≡++ nn. 

3���� ��
  n %��� ����: [ ]9538 212 ≡−+− +
nn

n. 

4� ����.	
 �
��$
 ��� λ	
 *'�+ �+	
 ��	�+	
 ����: 

[ ]




≤λ<−
≡λ++

3013
9045 26n

 

9k+8  ; 9k+4 λ={-4,5,14,23} 
     

����������77  

1�  �+�����	
 �
�����	
 �� :
)5(

413=a�  
)3(

102=b. 

�(  �� �� �+�
a � b / 0�	
 ��1�	
 �- . 

�( ��1�	
 �- ���
2��$
 /3  7�����	
 ba +� ba×. 

2���� ���	
  x  ��+�	�+	
 ��+	��	
 �-: 

  �( 
)()()(

4523412
xxx

=×      �( 
)11()9(

52α=xxx  

11 108 
)(7

230  
)(7

3315  6 7 
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 �+�������	
 ���	
  n - �+�� /3	
2��$
 /3 ��	
 ��1� � 

7��� ���  :0011α=n %�� α����� ��� . 
1� ���	
 ��� α ���� �+� n ��� ���'�	 &��
 3. 
2� ���	
 ��� α ���� �+� n ��� ���'�	 &��
 5. 

 ���
 4+�+�
α ���+ �+	
 n ��� ���'�	 &��
 15 . 
3�356� 4=α ���	
 �+�
 n/ 0�	
 ��1�	
 �- . 

4 , 1 4 4 2940   
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Diviseurs et multiples communs 
����������11    

1��� ��  �×����	
��� : 183 =− yx. 
    ����� �� ��� )1,3( �	��� 	���. 
2����� ���� ��� ��� ���	
���  !" ���� ��# �� : 

52 =− xy 
3���$� ����%� �� �� ���	��� ���%�� ����&�� ��  : 

                  




<≤−
=−
275

75621

x

yx
 

(8k+3,3k+1) (11,4) (-5,-2);(3,1);(11,4);(19,7) 

 

����������22    
1�����'� (#)$� �(�*��� +,	��� ��� ���	���  : 

    2189 - 1393 - 398. 
2��� ��  �×����	
��� : 39813932189 =+ yx 

     �� ��� �����  ),3( α−  �	��� 	���    .�� -α ���  
    /0��
� 1�2� 3��&. 
3����� ��# �� ���	
��� ��#	,��  ���� ���� ��� ���: 

  � (  11<x � 18<y 

  �(  03962 <−+ yx 

(7k-3,-11k+5) (-10,16);(-3,5);(4,-6) (4,-6);(11,-17) 

  

����������33  
1��� ��  �×����	
���  (E): 05185 =− yx  
2��� ��# �� 4����	
��� 4� (E)��� �5	06�� 4 7	),( yx 

    ���� ����� :4≤− yx 
3��� �� 
�#2�� ����$� ����%� ���	
��� ������	��� ���: 

   �(  8675185 =− yx  

  �(  8675185 =+ yx 

(3k,5k) (-6,-10);(-3,-5);(0,0);(3,5);(6,10) 

(3k,5k-17) k≥4 (9,2);(6,7);(3,12);(0,17) 

  

����������44  
1����	
��� ����&�� ����$� ����%� �� �� ���	���  : 

[I] . . . )1(76)2(95 +=− yx  
2����� ��# �� ���	
���  [I]��� ��  7	�5	06),( βα�����  
    ���� :[ ]52 β≡α. 

3���$� ����%� �� �� �� ��
�#2����	��� ���%�� �  : 

                  




≥−
+−=−

0

)1(4)2(5
22 yx

yx
 

(4k+2,5k-1) (20k′+2,25k′-1);(20k′-2,25k′-6) (14,14);(10,9);(6,4) 
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1�#6�  ����
�� �� 7993 - 170	��0�# 	��� �	���� . 

2�     ����%��� �� (#�
0 �
2 ���	
��� (E)   ����4�%��� 7�!  

    x � y.�� : 143170993 =− yx 

 � (�	��� ���� ���),( 00 yx-� ���	
�� (E) .��#: 
    600 =+ yx . 
� ( �� ���

2 ���	
��� (E). 
3��� ��
�#2 ��� (8&� �% a��,9 �9	# ��)� .��#  

     ��
�� )1( −a  ����
�� �� �) :��1986 � 340�"  
     14 � 3001��(��� :�� . 

(1,5) (170k+1,993k+5) 2001 

  

����������66     
1� ��� ����&�� ����$� x .��#: [ ]9197 −≡x 
2� ����$� ����%� �� ;�0�,� ���	
��� ���� ����&��: 

[I] . . . 1997 −=− yx 
3����	
��� ���� ��# ��  [I] ���� ���� ��� ���: 

           [ ]yx 0≡   ) =�y  ��
�� +,��x(  
4� (#�
0   �
�#2�� ��
��  n  1�)� =!�� 52α   �
�� +	�0 ��  
    =! ?	44,$� 7-144�)��  31β=! �44
�� +	44�0 �44�  

?	,$�     9 . ���α � β 1�)� +6 n=(*
�� +	�0�� ��  . 

9k+5 (9k+5,7k+6) (-4,-1) n=138 , β= 6 , α=5 

  

����������77    

���	
��� ����&�� ����$� ����%� �� (#�
0 : 
[I] . . . 119137 =+ yx 

1�  0� 7#6�   /  ��5	06�� 70	) �!@),( yx A�   ���	
��� [I] �B�  
    y ��
�� C�	D� 7.  ���	
��� ���� E��% ;�0�,�[I] . 

2�     ��
�#2�� ����$� ��� α   - β   � γ ) ����
� (�F( .�� : 
         

)7()8()6(

32311 γα=ββ+αγ 
(-13k+17,7k) γ=5 , β=7 , α= 4 
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1�����
�� �� ��#  27 � 22	��� �	���� 	��0�# . 
  �   -?���9@ ����(��� �	�
�,	#    4� �������  �����4& 

    a � b�	����  :12227 =+ ba 
2��� ��  �×� ���	
���: 15330405 =− yx 
3� ;�0�,�����&�� ����$� ����%� �� �� ���	��� ���%��   : 

                  
[ ]
[ ]




≡λ

≡λ

221

270
 

(9,-11) (22k+9,27k+11) 594k′+243 

  

����������99      

�����	
��� ����&�� ����$� ����%� �� (#�
0: 

[I]  . . .120102011 −=′−′ yx  
[II] . . . 320102011 =− yx  

1�	��0�# 	��� �	���� ��
#	��� ���
�#2 ����� �� 7#6�  . 
2� ���	
��� 	&	� A� ��� [I]. 
    
��� 	&	� A� ;�0�,� ���	[II]. 
3�����&�� ����$� ����%� �� ��   ���	
���[II]. 
4��)�� ),( yx  ���	
��� ����[II]����$� ����%� ��  

   ��
�#2��   � d (#)$� �(�*��� +,	���4� ),( yx. 
  � ��
�� �0)���� +���� �" 	� d� 
  �  7	�5	06�� ��� ),( yx  ���	
��� ����  [II]  ��)� .��#  

     x � y 	��0�# 	��� ������ (�F. 

(-1,-1) (3,3) (2010k+3,2011k+3) 3 ,1 (6030l+3,6033l+3) 

  

����������1010      

���	
��� ��
�#2�� ����$� ����%� �� (#�
0: 
[I] . . . 374 =β−α 

1�     ���	
���  !�� 	&	� A� ���   �)�4�� ),( 00 βα  .4��   
   70 0 <α<	����� E��% ;�0�,� +6 . 
2� ���	��� ���	
��� ���� �#, 	�� ;�0�,�: 

[II] . . . 10211968 =− yx 
     .��x � y�	�
�#2 ����� . 
3��)��  d  ����
�� (#)$� �(�*��� +,	��� ���
�#2��x � y  

      �	
��� ���� ��[II] . ��
�� �0)���� +���� �" 	�dG 
4�7	�5	06�� �) ��� ),( βα ���	
��� ���� [I].��#  

    ��)�   PGCD ( α ; β ) = 1. 
(6,3) (7k+6,4k+3) k≥0 (7k′+12,4k′+6) k′≥-1 

6,3;2;1 (21l+13;12l+7);(21l+20,12l+11) l≥0 
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2�   7	�5	06�� �) ��� ),( yx    � ��
�#2�� ����$� �� �4��� 
     ����  :19957 =+ yx � 9PGCD ( x ; y ) = 1. 

(1862,19);(1729,38);(1463,76);(931,152);(532,209);(266,247) 
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(24,15);(120,3);(15,24);(3,120) (9,18);(3,12);(2,5);(1,10) 

(27,3);(3,27) (18,27);(36,9);(54,18) 
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1� �( �
�#2�� ��
�� ��� 1996����� ����� H��% :�@ . 

   �( ��
�� +,��9 ����%� ��� 1996. 
 +,��9 H��% �� ��#       1996 �" 3)998(8 . 

�   (        +,�� 	��0� �4) E#(� =!�� ���
�#2�� ����
�� �%��  

 ��
��       1996.  
2�   7	�5	06�� �) ��� ),( yx      4��� �4�
�#2�� ����$� ��� 

����: 1996492 22 =+ dm  .�� - m    C�	4D��� �" 
  � (8&$� �(�*���  4x   � y    � d      �(�4*��� +,	44��� �" 

 (#)$�� 4x � y   .���A� :499���� ��� . 

1996,998,499,4,2,1 2 ; 1 (30,2);(10,6);(6,10);(2,30) 
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C	0&� :   7
�� ����%�20   ��)   C04&(a   �4���%�� 
   7
�� L(��15   ��)  C0&(b      +4�� �6�	6�� ����%��� 	��

   	5�* E���)  C0&(c .         ��	4�%M� N4�#��� �� 74��� �!@
 �" O������285C0& �) �� 1	)(�� ��� 1,�� - �� . 

1 ; 3 ; 12 
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